[ normalized x? probability |

Rati

% 2 4 6 8 10 12 14 16 18 20 09%970.10.20.3 0.4 0.5 0.6 0.7 0.8 0.9 1
X Prob(x?)
m—_== DQM_mkFit_TT_base
—— DQM_mkKFit_TT_retrain
= 5
S E
A 4F
- E
|
o F
) 25_'
\" 1;_
oF-
-
2f
SE-
B S
E i i i
o T8FTTES SEEEEE EEEEE 3=
T
o
0.5
0.95 . L ! ! L . .
32 -1 0 1 7 3 R — 3
n TP n (PCA to beamline)
A 3r T A n
2 [ E 2 1.8F-
% 25k : %< 1.6f-
\ N v E
[ 1.4F-
2F 12F
[ -
15F o.8f-
r 0.6f
1T 0.4F
[ 0.2F
o 05 o O
T S
14 *=- a4
0.5
0.95F
*fot 1 1l0 1(l)2 0* 10° — 1072 107
&T AR(track, jet?
S
A
-
e
a
o
el
\"




	Contents
	Page 1


